Working with Information Systems (2nd Edn) Solutions

(Solutions provided by Tony Crewe – The Glennie School)

Unit 1 – Single Table Databases

Activity 1.1

7a
budgie

7b
4381574


7c
Kim McDougall

Activity 1.4

8a
15

8b
None

8c
18 - Pet Age (>3 And <10)  

8d
11 – Last Visit (>#1/04/98# And <#31/10/98#)

8e
27 – Phone (>="434000" And <="436999") (or Like 43[4-6]*) 

8f
7

	8g
3
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Unit 2 – Systems Architecture

Activity 2.1

1a
Video

1b
8

1c
title

2 see pages 30-32

4
Video (title, category, hire period, cost, rating)

Borrowing (title, member number, due date)

Activity 2.2

2
id field or column


3
No (duplicate tuple)

4
null




5
No – not unique

6a
Missing data for key field (date)
6b
Duplicate key field (id)

6c
duplicate tuple

Activity 2.4

1 The three Schema model is a logical way of representing an information system, which is different to the physical aspects (hardware) of a computer system.

2 Security, confidentiality and convenience

3 Manages the flow of data on computers and networks

4a/b
External Schema – the user’s view of the database (can differ from user to user)
Internal Schema – the physical part  (computer’s view) of the database
Conceptual Schema – the ‘logical’ linking between the user’s view (External) and the physical data on disk (Internal)

4c
Three levels within are schema, information processor & database
More detail on each from text

4d
External schema – design of forms and reports that the user will access (see Unit 1)


External information processor – software Access 97 in our case.


External database – what the user has access to, some forms, reports may be password protected.

5
So parts can be changed without affecting other parts

Activity 2.5

4a 
Select returns a tuple; in this case C89  Jim  178

4b
Project returns a column; in this case Jane, Jim, Sam

4c
Intersect are elements in common; here the two tables intersect on the instance C89

4d
Cartesian product is where every row from one table is paired with every row from the second table; here


A45 Jane 156 C89 IPT


A45 Jane 156 F33 English


C89 Jim 178 C89 IPT


C89 Jim 178 F33 English


B45 Sam 163 C89 IPT


B45 Sam 163 F33 English

4e
No union possible. Tables have different structure (here different number and type of fields).

4f
Creates a cartesian product of the rows that meet the qualification; here: 
C89 Jim 178 IPT

Activity 2.6

Solutions from text

Unit 3 – DDE for a multi-table database

Activity 3.1

1a
from text

1b
problem description is a statement of the task, where a rationale provides the reasons for the task

1c
Easier for Ted to track jobs and devices


Ted can assign priorities more easily


Ted will have accurate and timely information and so …


Ted can make informed decisions

2 Student to Teacher: discussion, questions, homework etc…

Teacher to Student: Discussion, advice, notes, assignments, etc …

Teacher to Parent: Grades, attitudes, advice, etc..

Parent to Teacher: student data, absences, concerns, etc…

Teacher to Computer: Grades, comments, documents (word processing)…?

Computer to Teacher: Averages, percentages, charts, etc…

Much more time can be wasted without appropriate planning.

See evaluation page 66 of text.

( Tony Crewe, Kevin Savage 2002 – Used with permission

